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Chapter 4 PRACTICE TEST Date Period
STANDARD FORM
Graph and label the parts of the quadratic function. Round to 2 decimals.

Create a table of 5 values with the vestex the middle point.

What is the vertex? —1 5,45 (Label with a V)

What is the Axis of Symmetry" X ==|.5  (Label with A.S.)
What is the Y-intercept as an ordered pair? -Z) (Label with aY)
Find the Solutions: X = —d, Qﬂ?{, ~0.3%  (Label with X's)
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VERTEX FORM
Graph and label the parts of the quadratic function.
Create a table of 5 values with the vertex the middle point.

What is the vertex? (4 2 (Label with a V)
What is the Axis of Symmetry? X = 4 (Label with A.S.)
Find the Solutions: Y =3 g (Label with X's)
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INTERCEPT FORM:
Graph and label the parts of the quadratic function.
Create a table of 5 values with the vertex the middle point.

Find the Solutions: X =-2 4 (Label with X's)
What is the vertex? ___ (| ~O (Label with a V)
What is the Axis of Symmétry'? >(-"- 1 (Label with A.S.)
3) skip 4) fx)=(x+2)(x-4)
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HIGHER ORDER FUNCTIONS
a) Sketch the graph of each function to show clearly show the shape the function. Create a table
of of ALL points that can fit on the coordinate grid provided.

b) Find the Solutions: (Label with X's). Round to 1 decimal
place.
5) flx)=-x*+4x?-7 6) flx)=x*-x>-3x"+2
Real Zeros: —1.2,1.8,3.4 : SA Y 5 Real Zeros: 0.8, 2.2
Minima: (0, ~7) Minima: (-0.9, 1)
Maxima: (2.7, 2.5) (1.7,-3.2)
Maxima: (0, 2)
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Solve each equation by taking square roots. Leave answers in SIMPLE RAICAL FORM.
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Solve each equation with the,'(_ﬁmdratic formula.| Leave solutions in SIMPLE RAICAL FORM
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Solve each equation with the quadratic formula.
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ROUND TO 2 DECIMALS.
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Solve each equation by completing the square. ROUND TO 2 DECIMALS.
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Solve each equation by factoring.
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CHOOSING THE EASIEST METHOD TO SOLVE QUADRATIC FUNCTIONS

You have learned 5 methods. Use each of the 5 methods ONCE to solve the 5 given quadratic
functions.

1) Solve by Graphing - sketch a clear graph. Plot the vertex and the x-intercepts. Then give the
soluctions

2) Solve by taking square roots.

3) Solve with the Quadratic Formula

4) Solve by Completing the Square
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